Pract;
Ctice Test — Quadratics Name KEY ~

Algebrg 5 SHOW ALL
- WORK! Date Period __—
lei;t:ted Response
. Whi
1ch graph below best matches the equation y = x%- 6x + 7? ‘—5-‘
1) :

R
~2) aka Quacrount 4! ‘
= X=22 for x-coordinate of vertx
Then plug inf equat on For Y
2. Solve x=
Sol )222-}._:_3)(1_?;0:0 2)_)(;2sz—6
(X—z)(x—t—?) =0
X=2 -0 0V X¥6 =0
[x=2 & (F5]

3. Solve: 9x-10x-5=0 *NIT foctordble. Use Quadrati ¢ L E!
rrMu e R

X:—bi‘\,bz—qqc T -
= 105250 _ Ioizﬁ:/5_+ﬁ
2 A ’g P — =

| 2

)

4. Yazmin is solving a quadratic equation, and gets to the step shown below? At this point, which of the following

statements can Yazmin assume? (Select ALL that apply.) <ort M i on \
0 asyTepasvendrs n o oY\ Cahe
B s complex: R e & 1® g2 B2
* y00NS & 8 ed Q0 mﬁ ovs
A) There is only one real solution. X - A) There is only one real solution. X
The graph of the original function does not cross the x-axis. \/ B) The graph of the original function does not cross the x-axis. X
C) There are two real solutions. X C) Yhere are two real solutions. v/
@Thef@ are two complex solutions. D) There are two complex solutions. X

¢) What number would have to be under the radical so there is only one real solution?

p) posihive D) priofthe alove disoriminant = g

(’K‘ l([j["‘ V€
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% Graph the following function. State the vertex and detgrmine if the vertex is a minimum or a maximum.

) =— x-g)2 47 7\\
vertex (4 3) P \

Y
ittt HH D
MY v i fl v \%

4=-1 (neq.vern (a1 greton)

6. Determine maximum or a minimum value of f(x) = -4x* ¥16x + 2 5 C/
A) minimum; f(x) = 18 X B) minimum; f(x) = 2 X
@'naximum; f(x)=18 D) maximum; f(x) = 2
Neqatve o > > MmAXimum | Find Vertex
4 ) VErHEX. X=28 2. (2,19)

7. Simplify: (2 - 6i) - (- 6+ 7i).

. : 0=13
5120 ] ]

8. Multiply: (3 -4i)?
| -3-241 ]

9. Simplify e (g—u > - (20588

J\-vaW/W
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10. Write y = x2 + 6x +4 in vertex form. 2
a=l p=kb cCc=y4 \ﬁ:ah('(”) il
2
y=1{#=--3) =3
Y= (xt3)*~5 J

12. Identify the function given in the graph below. List the function in three different forms: Factored Form,
Vertex Form, and Standard Form.

. 2
veex formn A (x-2) 41
g ,1, E '
3 —+  cactpred form Y= (%= D2 .
|
4

2. .
cardiard forpn Y=X=mro,

-2

-3




Practice Test — Quadratics
Algebra 2

Free Re

13-16) Given f(x) = x? (fj Y

Veriex (0,0)

15. Graph  g(x) = —3x°

Vertex(o0,0)

17. Write the equation of any parabola for which the axis of symmetry is x

(thint - There grc U hp

9, 4he verrex |5 (3,4) for any ﬂ.'

sponse

13. Graph Ax)=x?

Calculator OK
SHOW ALL WORK!

Period

oints Ot P."((\S\Oﬂ 10V CMLW pqrobta) la )

14. Graph fix) = (x— 1),

16. Graph y = —x* +4

AVS = -3

0x). y = (X+3>2+2, WOVES .
Y =2 (%43 +2 does oo

MY Y= oAl 13)Z+ < will do 'Hc(

2F
lc golurtions-
Uhoose o\e Yna: mageS Serlse +o Lju‘

verex: (1,3)

a=|
shettn =1

NeY+eX : (0,4)

I a=~-|

\aeqah Ve
Ltreton

Nl
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Practice Test — Quadratics Calculator OK Name KM/Uk
Algebra 2 SHOW ALL WORK! Date____ Period___
Performance Task

19-24) Suppose you throw a ball up in the air with a velocity of 15 ft/s. The height h of the ball after
t seconds in the air is given by the quadratic function h(t) = —5t% + 15t + 20.

19) Graph the function from the time the ball is thrown

until it hits the ground. Height (feet)
‘i;_ __DES_,.— cesspssgesnes

b | 20 45
5\ 51,25 4,

Z 130
21|20 35
20) What is the vertex and explain its meaning within the 0
context of the problem? 25
Ue X==bo =15 - i3 3 L1) %
24 2(-9 -0 = 1
Y= -5(1.5)72,L 15(1.5)+20 veriex (5 3.25) 2
y = -5(2:25+4 22,5 20 1S the mAaXimum

¥ =-1-25+22.5120 3125 VEIYM of the bl o ‘
21) Forwhatvaluesoftish(6=30? 0’+ tfme = f.'ﬁ'gfwnds 0 22med4 =6 &8 10

Explain the meaning of these values in context of the problem.
t =1 and t=2 1 Nhere h()=2: |
This means at lecond & 2sechds the balls heighte
was a4t 20H.

22) For how many seconds is the ball in the air before it hits the ground?

Tve ball 1€ 11 the aiv fr 4 ceondS . (40 to =)

Time (seconds)

23) In the context of height and time, what does the constant (+ 20) in the function
h(t) = =5t + 15t + 20.

[+ 1s the y-Inter ept but wore SPCC:ﬁertJ} the helght at
whion the ball 16 thowh from | WMHLJ
24) What is the domain and range in context of the problem?

Domain: (O J 4‘> Range: /U/ %l 2 l;) .

5 Rev. 8/2016




A‘%@ 2 Prachce Test (Unit2)
W N - LR

) Y=x"-pxs3
e = X=1b - —()=0-3
2a. | Sl N+
=(3)2’(a(3)1’+
l@f?

=
—> V@ch (3, «2> o\m N Quadrant 4 .

=) |
)80\\/\6 X3k =10

10 1ol 4

X 13x=10 =0 * Note: this 1S Fachorable .
" (ed)xrs) =0

S0 Xx=250 o g loy 2er prduct- property

T -

12 |t2
Qe gx2-lox—5 =0.

'#3> | 9x X N(?r {30101-0}'01/(0,{

| 4=9 b=—10 (=-9 my1?) W%ﬁb

' x-.-_- "‘bi'\‘ lo2’l+01& - (‘l0>+\f(_w) L*M)/ 5)

© T T2 z
=loXToa+igo = lo¥\ 280 = '0‘\)4070
(% e LB (2

Z0ToJF = |6 3(F

18



H) 0. W YWmper

. a).

2 IS Negohve!

= 3% [-2 < \lit the dicaiminan-

s ;  Thi¢ meang we will have-

= (D 2 pmplex &L T 1¢ 1ow wedet 2 mplex
© go?owh%m. How %grommwrlcp.
1
¥/b X=-3+z t'%smg\lmm&pmﬁve/
3 e e

=9 2 Retl Gt 370

S0 Yheve s ony | real Siutioy ?

0 zev. 3o - g-3%6 =B+ - 3

3 %

#9) graph  10= —(x-4)*+7
VORex  veriex (4,
form .

g 4 @=-1(negative | shetih focmr).
o T : £— oy HX S W ‘
4T ZHE .. NAX] M-
- 2-.1- i i .' 3 1L
B
-

)

b 8
"3—-03 __3.
% 5

world have fvbe Wnder the yodical

=X

a
4
o

3

[

:




|
‘#@' Pttermine M) mym/mini mwm o
F60 = ~4y* Hlx +2
A=-4 b= lw C=H-

Sinte a = nowm prdoola. |l have a
Nejotve \fCH1 Cal Stre and ook |l ke
/

This \f]f_ e vertex will e oo MAximum !
Next, where ¢ the verrex?

| X:-—-b—-—“ﬂ \‘1‘0\

! Bu; {agHn et

i Y= ~(2)* Hp(2) 2

} y=-4(t)+3212
Y = =l +3 2412

y =18
S vertex S gt (2,180

LoklPg @ options, F60=2 1S fatlse bl 60=y
and y#2.
FOO=18 1S ’ﬂewE

=(0) maximum, £60=(g.

. 2-0) - (~tFi) = Lgm—tg—:z;
=18 — 2L

he) (3~4L)2=(3—‘{L)(5—m) Q- 20120 Hoi >
=81 =240 H =)

= 9-241 ~p

——

|



;Hq> = (5/%(; > —~ 20 + 3.
5+ 5 L ==

25 T HOT 41 ™
5. 20"80 = QO~XZ = ‘9_0_’&‘.
2S -4C) 35 t+4 =4

= X*+bx+4 N vertex Hrm.

URRY O - AL e
@ d \/\C%Xw(h,lé)

e Hind Werex
)(':. —b: "V 2a ..‘0-:-—3
20, LEPY| I8

H ( ) Ho(3Y 44 Nertex (<3,-5)
— 18 +¢ _\,z i
ljrﬂ,(i =)+ -5
Q,g Y=a (k43 -5

' a=1 from earlier -
*—'3"3 = (X+3)2—5-~

Hiz). \erteX form:

ot 20r0§/x-\hi—mwpg@ A=l X=2'
A ¥y SA*-D(x-2) = (><—D(>«~%> once =)

Stiinddrd form: wiLout ered X2 Bx—x+3
X-&— Uy +3




gk 2 - Porforman e Task

*’WQY ooV me the ball 1S thrown
; “P&\ ;((\Yl\ts %émqrouwjv‘ 0 ' ‘

’ NO=-5t" 15t +20.

1= | h(e) W) W) @nswer )
O [-5(0) +1500) t20 [=20.
| |-5w)% 115C1) +20 F 30
A AR O
t+15(3) +20 |= 20
| [~5)+15(%) +20 |= 0. & Nite This § heiqpt =0 go the
| 4 Pal VthS oﬁ’lo\é w+ e,
| ground akawe h StopD.
Xsee the draph sn @WHING poge *
#20). What' \ereX & explain 1t Meaning within the
\'C%m%ﬂnt ol ag’; nﬂ

h(t3=—5t FISt ¥iv @ 5, =15 C-2D.

Uee W=D =7 5 5" - AR
20 P(-5)FE10 )

Yy=-30- 9)* +)5 (k%) 120
= 3)-25

= Vertex 15 at (1.5, 3).25). This means at time =I-5

( .
the ball 1S Gt hcijs ht 31.25 % Sree ceconds>

IS patrgiool
rs @ga GVe (a ), This parwom/ nag afmm/‘ngfwb
WYeX -

ﬂrmg the VEex 1cprecel 114cloang maximuim
V\cw)fqt AL =1s mPSt’w’ 5

XThe redt are precewt 00 QIUtiang page s,




